
T  2  N 

2 


2 


+2 


-2 
 2 
 %-2 


2 


2 
 -2 


n 

ofof 
ot  t 


dndb 
< 
 domoin 

< 
in  AS 


f 
h 


A 
+4 

09 


p 


d 
 ro 
qual 


3 


an 


2- 

f(2)  -1 


(2)+1 
 3+ 

2 


MMber  pl 

3-1 
 2 
(21-1 
infrst 


+ 


-1 
1 


2 


+1 


X-1 
 X-1 

X 
 -1 


2 
2 




%+ 
 + 


X+1 
 t  h 

h 
 + 


h 


y43 
+ 
 xth+3 


A 


2 


+3X+3h-21 

2 
 distibute 


Xth+3 
 Xt3y 
(th+3) 


h+7h 


X+3}x+h  +3) 
+) 


4 
+2+ 

-2) 


2 


4 
( 


2 


14 

- 


2) 

2. 


( 


y+L 
-2 

2 


-tt 
+t 

(d) 


thI+t 


t 
t-1 

( 


((t+1) 
(t 
2t*+1-3 


H 


CHecy 


4x+2  n  MOL 

2 


isn 


2 
s  rcAl  Sl 
itCt 




Cosey  isne 

1 
CA 


@ 


X 
X 


x 


X 


X4 
 +n 

4 
 Cose1  2+4 


+4 


+-2+2 
-2 
21 

6  t  t 
 t 
t-1 
+2-4 


4 
t1-4 
12-4 


t+2 


t(t-1)  t(t-++2) 
t 


4 

2 


Not 


Id 
+2 


5 


and 


2 
y+2 


This  is  cprrect  b  the 


CAn  be  fapred  out  and  cone 

2 


his 


S 


qut  an 

n 


XZ 


denpMi 


2 
 7.This  ere2 
2,4 

(b)  onsidex 


A 
in 


any 
d 


The  nistake 

2 


Consider 


cAch  trm-  n  rdex  h 

d 


2 


4 


2 
2 


2 



